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Class-VIIl  (Syllabus and Sample Question Paper)

Classification of Computers, Describing Types of Computer, Introduction to
Number System, Working with MS- Excel, Networking, Internet, Computer
Language, Internet and IT application, Working with Power Point, Introducing
ASCII, Types of Memory, Software Fundamentals, Everyday Computer Science.

The Actual Question Paper Contains 40 Questions. The Duration of the Test Paper is 60 Minutes

1. Bold, Italic, Regular are known as?
(A) Font styles (B) Font effects (C) Word art (D) Text effects
(E) None of these

2. Magnetic tape can serve as?

(A) Input media (B) Output media
(C) Secondary storage media (D) All of above
(E) None of these

3.  Which setting you must modify to print a worksheet using letter head?
(A) Paper (B) Margin
(C) Layout (D) Orientation
(E) None of these

4. Which one was the first network among the following?
(A) CSNET (B) NSFNET
(C) ANSNET (D) ARPANET
(E) None of these



Hard disks and diskettes are?
(A) Direct access storage devices (B) Sequential access storage devices

(C) Rarely used with microcomputers (D) All of these
(E) None of these

6. The computer code for the interchange of information is?
(A) ASCII (B) BCD (C) EBCDIC (D) All of above
(E) None of these
7. The data recording area between the blank gaps on magnetic tape is called a / an?
(A) Record (B) Block (C) Field (D) Database
(E) None of these
8. RAMais used as a short memory because it:
(A) IS volatile (B) Is very expensive
(C) Has small capacity (D) Is programmable
(E) None of these
9. How many sheets are there in Excel work book by default?
(A) 2 (B) 3 (C) 4 D) 5
(E) None of these
10. In transmission, the channel capacity is shared by both communicating devices
at all times.
(A) Simplex (B) Half duplex
(C) Full duplex (D) half simplex
(E) None of these
11. A half byte is known as?
(A) Data (B) Bit
(C) Half byte (D) Nibble
(E) None of these
12. Which of the following is not available in font spacing?
(A) Normal (B) Loosely
(C) Condensed (D) Expanded
(E) None of these
13. A hard copy would be prepared on a.

(A) Line printer (B) Dot matrix printer
(C) Plotter (D) All of these
(E) None of these



14. A hybrid computer

(A) Resembles digital computer

(B) Resembles analog computer

(C) Resembles both digital and analog computer
(D) Can’t say

(E) None of these

15.

The CPU chip used in a computer is partially made out of
(A) Copper (B) Iron

(C) Gold and silver (D) Silica

(E) None of these

1. A 2. D 3. B 4. D 5. A
6. A 7. B 8. A 9. B 10.C
11. D 12.B 13. D 14. C 15.D



